DT2200P
2200 psi @ 2gpm

Part Number Description
Pump Information: [D25059 oo AR Pump, #XJW2G22 |
F 18829 e Adapter 1/2 FPT
FATB58 e Thermal Relief Valve
B e Screen
Engine Information: GCVA3B5..iieeeeeeeeeeeeeeeeeeeeeee, Engine, Honda, 4.5 HP
FAB294 Key
16255 ... Oil, Engine (200z)
Frame Information: D22908.....cco oo Frame
D22268.....cceeeeeeeeeee e Foot
D22316..c i Handle, Bagged
D25063 ......eeeeeeeeeeee e Accessories Panel
D22275 ... Tire, 8”
D25060.....c.c.eeeeeeeeeesiee e Engine Base
D25BA4A ... Axle
D22305 ... Wheel Bracket (qty 2)
Hardware Information:
Wheel Bracket to Frame: D23208..........ccooceviiieereineenne Screw1/4-20 x .75 (qty 4)
Wheel to Axle:
WA e Pal Nut (qty 2)
Foot: D23208......ccceeeeeeeecieees Screw, 1/4-20 x .75 (qty 1)
Engine to Pump 16087 ... Flange Head Nut (gty 3)
D23186........... Screw, 5/16-18 x 2.25” HxHdCp (qty 3)
Handle to Frame:
@ 10477 e Knob (qty 2)
@ D23196 ....oviieeeeeeeeee Bolts, 5/16-18 x 2 (qty 2)
Accessories Panel
to Frame:
[D12521° 0 K Screw, 1/4-20-1.125 (qty 4)
Accessory Information: D22166 ....ceeevieeeeieeeninnnnn, Hi Pressure Hose, 1/4” x 25ft
D22837 . Lance
17780 e Trigger Gun, 22 mm
FUHT40 Chemical Hose
D24872.....ooieeeeeeeeee e Bagged Parts
ONCTOOT ..o e Cleaning Tool
@ 16797 e Allen Wrench
Manual Information: @ D22885 ........ Manual, General-English/Spanish/French
@ D22887 ... Manual, Parts
English/Spanish
V D20737 s Manual, Engine
® Included in Bagged Parts
v Included in Bagged Handle
* Included in Pump Kit
PW-MANUAL March, 2002

Tab: DT


http://www.allpartsinc.com/mmAllParts/Others/D25059-IPD.PDF
MCramer
Note
Note: the D27959 cleaning solution tanks will fit this unit. And can be added by ordering online at: www.devilbissparts.com

andrew.carlson
Highlight


	DT2200P



